mERFESGERA

BRIV RGR SR RV AR 42

WM TIENEFERNEERNEY

A S RIERIN. AW LU BRI
I, HRARBEGMNRLDTERARA

2%, BNAERBBKEE. ERKEH
WEEREMLRE, BERERIFEENSL
HERYEETEERASEEENUE
tfl, BIREAUKREAXRBSENAR
BEE BES ERARAREMRAS.

BEERE., BENRAREARETRIR
HmRst, RESHNRENE, BES
e 5E AR R ERMEEERTEK
EFEHRASREESERNER —0
WEYIRLRIE, BitEEE (WNER) ¥R
L

A EMABT-HLLIE 886-3-5773766
BA 7 EM AL T-KME 886-3-5729570

BAHLF(LER)  86-21-34970699
BEAHEF(EI)  86-755-83298787
http:/ /www.100y.com.tw

POERYR VAR AR U B R

RERARER, EROULLLEATCERE
BRe&st — 360° LED BARINAE, MM 7 AR
RERISRIRRE, BRT RETRRAARREZIN, B
BRETBRREMERER, flw: 2
B, BEALSE. BREERKRMHBE
iR, R EEEENIR S R T B,

CE: ‘us

LISTED

1HEh

« EREAREE TRIRE

« REMREERERSNE

- IRRIBEREINGE, BREBENMERR

= EiB360° LEDREETRIRB LT

« ERAGAEEREIRNRESE (8
8B) , BAEENER

« KitEEE Q5E—AN)


Kuo
新建印章


B h EMAR T LE 886-3-5773766
Bt A BB T-RME 886-3-5729570
BAHEF(EAE) 86-21-34970699
A A F(FEN) 86-755-83298787
http:/ /www.100y.com.tw

BES BRI AIZE

BESO060N BES060T BESO060R BES060U BES060P BES060M
R~ M8 x 45 mm M8 x 65 mm M12 x 45 mm M12 x 65 mm M18 x 45 mm M18 x 656 mm
g BE E B
EREEE 2 mm 4 mm 8 mm
RARAE i PNP NO PNP NO PNP NO
SRR 600 Hz 350 Hz 300 Hz
SNERME BRi55E, B8R PC Ri5te, B3R PC Rixte, B PC
REEME PBT PBT PBT
O ;ﬂi;f%%, M8x1 $&5H, #Hi%es, M12x1 {4588, 3 &t HiEes, M12x1 #E8E, 3 &
T{EERE Ub 10...30 V DC 10...30 V DC 10...30 V DC
BIRAE -25...70 °C -25...70 °C -25...70 °C
B8 4R P67 P67 IP67
R CE, UKCA, cULus CE, UKCA, cULus CE, UKCA, cULus
R
BAMO45T BAMO45W BAMO045U
R B E PR AL AT HE R 28 B E PR AL AT HE AR 28 B E PR AL AT HE AR 28
23 23 229
&R FARMBREHIZE, FARM123%HI28, FARMI18R%AIZE,
EERE65mm EERE65mm EERE65mm
R~ M14 x 50 mm M18 x 50 mm M24 x 50 mm
NG PBT PBT PBT
BRI EAR
2mBE BCCO2NU BCCO34A
5m B4 BCCO2NW BCC034C
#0O M8x1 &, HEE, 5, A-coded M12x1 #0, H#E, 5 #, A-coded

T PVC Ik &, HESEARED PVC Ik &, HEs848EC



Kuo
新建印章




